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Geometry 21 Practice 12.1-(124]) plus 10.6/10.7 Name ‘ ~\, AR f(>

Read directions carefully. Round all decimals to the nearest hundredth. SHOWALL WORK-.
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wi circle F; 171:4—]3\?:900, EC=24cm, FG =16 cm, FEHE, mJ/LI_C\'=102" < ((f C& r\,

Find; N
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— 20"’ 1"
2) mED= 0 ] 6) m<HEC= >(

—_yy C\o
3) mAE = \ 7) m<HFB=__ )

\ ')J — I“)\ k\, ’
=N 4) mDC = O

~> e as D

Using the diagram from above, fill in the blanks below; I O () 0 T
_ 4,3
o1 AD iscalled a(n) (\\ (l-'\‘\l\{’,fi«éz’ which is a special type of chord

10) FB isa(n) Ooi LS

11) < FECis called a(n) AAS V"’\\\(}. o angle.
o \”‘l —_ v \ i 2 ', e
12) < HFD s called a(n) R A X angle, and DH isits__ | [\ (_,4"/;\) \ (,,.\) U e,
For #13 — 18, use each diagram to solve for “x”; ) o (
, b et = Y -3

13) x= l 14) x= ) 15) x=

Radius =5 cm r : =

x\\/u« z | {30,‘:\) }1/ = D
Logn 2082 o™
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2x +11°
— 4x - 3°
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circle A circle C
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Use the following diagram for # 19 — 21;

1 9

]
19) If mGRM =284°, then m < EOM = /&k{

.’) {
20) If GR=10cmand TY =11 cm, then EO = )
k= |
< } y (
///
///
21) Use the following given facts to solve for x; 4
radius of circleO = x, GE=x*-6, the radius of circle T = the diameter of circleO, perimeter of GEOT = 34
£ N 77 - \’ \
S [/ A\ : vl o 2\ ¢ .‘
X = { /" a” N2 < D)
B T > Y WX —Y] O A\ :
\\ [ 0} x(7 /
/ _ Y A ;
\_ ] > \' ) U /\ t ! ; ) > 1 )

Ray FD is tangent to OM at point D, GC || ﬁ mBC = 76°,
GF =4, FD =6, ED = 2, mGD = 52°, and BM = 5. Find the following: (MD is perpendicular to CG)

'1, :,/ ) // -
1. mZ BFD v 2. m/DEC (L
—_— \l A Y 4 — [ )
3. mAG I PR 4. mAB >

5. GM 5 6. GC Do




10.6 — 10.7 review/practice

Find the measure of each arc in circle R.

5. ST 6. SV
8. UV 9. VUT
14. TUS 15, TSU

Find eachindicated measure for OD.

17. m<EDI 18.mEF
19, mGIl 2. mIDH

Find the length of each darkened arc. Leave answers in terms of pi.

30. S 31,

%{

200

Find the area of each shaded sector of a circle. Leave your answer in terms of .

10. , 1.
13.

14,

186.
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Geometry 21 - Extra Practice for Unit 8 Circles Test (10.6, 10.7, 12.1-12.5)

Lesson 10-6

(a) Find the circumference of each circle. (b) Find the length of the arc shown in

gray. Leave your answers in terms of x

o 30.
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Lesson 10-7 (0L = QOIIT ~N\ 6T e o G
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Find the area of each shaded sector or segment.\teave your answers in ﬂ’ P

terms of 7z N
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Lesson 12-1

N

Assume that the lines that appear to be tangent are tangent. P is the center of
each circle. Find the value of x.

—— * |
. ‘ L 50
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\ / \ //y,) | ( )
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Lesson 12-3 1Y A~ = Jil
/ A A
YO T¢ fu'-‘.\,,f
Find the value of each variable. b [0 ]
(A 7 ‘ﬂ( )L)/ /
13. 15
b =255/
o1 50 & 122
/ {')bri‘)’) (3010 =
) [ 104 J ‘ N
) \ - ‘,_“/l[/‘,‘, — . {/ 0. & § < -(/x/lv( o J
ItTT#b =1§0 d = 150~3% w/,, J i L

i

Find the value of each variable. Assume that rays that appear to be tangent are tangent.




Lesson 12-5
Write the standard equation of the circle with center P.

31. P=(0,0);r=4 32.P=(0,5;r=3
- r ) b

IR g 3 tw [ %7 (g\ «\g;)’ -\

33. P (9,-3); r= 34. P (—4 0); througl (2 I/)

. 5 ( > \ ( N+(%= 37) %

Find the center and radius of each circle. Then graph the circle.

35.(x+ 1)’ +(y+3)°=1 36. (x - 1)+ (y+2)*=5
(_’,L".(L}’(»'\,'.’ . (--, "/ = :)> (\ﬁ"\ ( ‘ ) o J Jﬁﬂ_ﬂ,
ool = w ¢ =
ek =S x93
W\ /

37. When a coordinate grid is imposed over a map, the location of a radio station is given by (113, 215). A town
located at (149 138) is at the outermost edge of the circular region where clear reception is assured. . N
a. Write an equat%n that describes the boundary of the clear reception region. 149 = (1 \’»3) F ( /38 -2 (.ﬁx’) 7

()‘\ - | Ts 2 ( (‘\ - 2\,\> = Z ‘)1) :) (7 {_11\}
jon regi i2a0 5729

b. If the radio station boosts power to increase the size of the clear-reception region by a
factor of 4, what will be the equation for the new boundary for clear reception‘7 TL2F ‘
d 2\© 7 S -
()(' (\ > | v } \\B ( tk) ( { Hinass { '\J “‘%"‘
S l (AN = .(,\;S

[@4 (L m} = ns,.,f.wf rocivss = 4 65)
Mixed Review | = 34D

2. AB and AD are tangent to OC . Find the value(s) of x.

(2 _\ =2
X QL z:{ | ) )

3. It XY =18, YZ =14, XZ =20, find the radius of each circle. _
A . >
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. . . J"n\ ,/?
Find the measure of the arc or angle in 00O , gtven mCD =108° and )nBé\ =100°.

9. mLABC OI O 10. m/CED ‘, 1 1w 50 a
B o g / 13. ‘ ‘
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skip #20821-below:

Assume that lines that appear to be tangent are tangent. Fmd the value of each variable.

8. (ax - 8 19. diameter 20.

. \
(

—— lxtl 5=90

d

9
S~ X*smz-lﬁ(’éx 23 J) o dd & BT N
Ex = =180 % %" y
> 5/ % =4
o (S(‘. 22. 90V o 23. fix+of

d el o
IR-RF. 6/? ((f“(t 7 & {

e K 24
STUSA vyt

5 X=§
42. Give the coordinates of the center, the radius, and the 1
equation of the circle. ‘ : e
q & ek (3 .J)>
aciu =42 N 1
R I e/ p £ v
ey o\ 2
== —9 A A\ (f)j "“'k\,

s . N . . : (N ()

Find all possible values of x. Then determine the solution(s) of the problem. S

(x2)e
43. 44.
{dx — B)° A N
L
= (5x + 36)°
B
10x° M
X+ Qx-S = [5(2.»(5
) AoS K H10x+5x+36 =360
~ {
(;1 73 5 g b

— ) (x+ax =1 = ©
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Completing the Square Practice

Directions: Solve each equation by completing the square. Express the answer in simplest radical form.
1. x2+6x+4=0 2 x2+2x_5=0
) kR s wled Vs
XEHox +9 =749 +19 !
2 =[5 r3=]5
o \,(x 3)" R G
SN T )
>/\ LV — %X ,F‘La = wL{ 1 BN s
(= g\ I T = \
h (V)\ 1> ~/~ 'L (/ NL’N&QT{S g ;

X=4 P
5, 4x2-20x+9=0

7. Acircle has the equation x? + y2- 2x + 6y +3=0. Express this equahon in center-radius form.

“’Zyc f! \/ P(OLJ_ 1__ = ff"ol

(X-D (y+3) = ZJ

8. Acircle has the equahon X2 +y2+B6x-2y-15=0. Express this equation in center-radius form.

y f}ﬁ&u;‘:“_‘i;ﬂ_ _;_ “_l“‘_m/g 9+
Cler3 ) 28 )

Match each equation in the first column with a LorrespoJng true l’act 'm the second column,

Q 9. (x=4)+(y+6) =36 Y. tangent to the y-axis at (0,3)

’Y 10. X4y 4 2x=d4y=11=0
v, &I y-2)
\\gll. (".+4)3+(y_6)2=3(

S (x=2 4+ (457 =9

B. Center (2.3), radius «fS-

S 12, X4yt =4+ 10y + 20 = 0, 407\ /I~ F. Center at the origin
. =) e(yes)s ’

B + ' dx =6y +8=0-5+4+9K \ U. tangent to the v-axis at (4.0)
14, (=D a(y2) - 5

\)\)g X +) =8r+2y+8= ,0 ~-§ b v T. Center (-1,2). radius 4
W gy ()=

Q 16 X4y *=49
\‘ 20, (x=2)'+(y=-3)Y =4 ~-W. Center (4,-1), radius 3
- X\
(©,3) (
(o '(_Y y (/6//5) L

CY =4 v

N. Center (-4,6), radius 6






